Source Voltage Uppg i= 400V

Source Voltage f,, =50 Hz

Peak voltage for in the DC bus section

o Upeak

av 1,11
The winding of a motor can be simplefied to a RL circuit
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Upeak = Yrms 42 Ypeak = 565,6854 V

U,, =509,6265V

The impedance of the circuit will be:

frequency of varied voltage U, :=400V
frequency of varied Hz f,:=50Hz
Resistance Ryinding := 5 ohm
R. .. .
Inductance L .- _“inding A3 Lo
i S T 1 =27,5664 mH
\
Inductive reactance. Xy=2-n-F, -L; X, =8,6603Q
capacitance C,:=0,001 farad
1
i ) G e — =
Inductive reactance. ¢ T Ta T, X.=3,18310Q
impedence Z, :=4R 2 X X 2
P 1 '~ "winding +{ 1 T c] Z,=12,8555Q

If the current and frequency maintain the same ratio below the motor value, the
current also remains constant. If the current is constant, the torque is also

constant.
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|X =31,115A

nsync =1500 rpm

S, =5,2632%
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Maximum Current over the motor on the plate

IDmaXSOHz =15 kW
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=79,2336 Nm

=12,446 kW



